HOW TO INSTALL:

TOYOTA TACOMA
LOWER CONTROL ARM SKID PLATE

WK

CALI RAISED

LED

HARDWARE LIST

2) Aluminum Spacer

) 1/4 Lock Nut

4) 3/8 Lock Nut

4) 3/8 Washer

2) 1/4 Washer

2) 1/4 Washer Oversized

2) 1/4-20 Bolt, 3.5" Long

2) 3/8-16 Carriage Bolt, 3" Long
2)

(2
(2
(
(
(
(
§
(2) 3/8-16 Carriage Bolt, 3.5” Long



First you will need to remove the plastic caps that are located Locate the holes that align with the Lower Control Arm Skid.
on the lower control arm. Use can use a flat screwdriver or pry
bar to remove them.

Using the shorter 3/8 carriage bolt, place it into position Using the longer 3/8 carriage bolt, place it into position
towards the front of the skid plate. Push it through the lower towards the rear of the skid plate. Push it through the lower
control armand put on a washer and a nut. Hand tighten. control arm and put on a washer and a nut. Hand tighten.

Place the aluminum spacer between the skid plate and the Use the 1/4"” bolt, add a washer, push the bolt through the
lower control arm. skid and through the aluminum spacer. Note: Only the 2nd
Gen Tacoma will require the aluminum spacer.



Place the remaining nut onto the 1/4” bolt, and tighten. Note:
This is best installed with the vehicle on the ground. Once all
the bolts are in place - tighten down all the bolts.



